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number in place of “m” and the y-intercept is the number
in place of “b”.
Parallel Lines: have the same slope and will never intersect.

linear functions, including
slopes and intercepts .

SLOPE-INTERCEPT FORM OF THE EQUATION OF A LINE

(¥] The linear equation
HW: Worksheet 2.64 y=mx+ biswitienin  yoze4s
slope-intercept form. i -
The slope of the line is m. HR 120
The y-intercept is b. y-interceptis 3
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Find the equation of the line:
=>y-intercept (b) = 4

Slope (m) =3¢ =
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Equation:
y=mx+b
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Graphing a linear function
using slope-intercept form.

1. Identify the slope (m)
2. Identify the y-intercept (b)
*3. Plot the y-intercept (Starting volu)
(where the line began)
%4. Plot more points to show the slope

(how the line moves)
5. Connect the points with a straight line
(showing the line extends infinitely)




Graph p=3r+5 Graph y=4 = u=0% +4
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